
UIL  ACCOUNTING

Invitational A-967A (Spring 1997)
Group 1

Determine the classification of each of the following accounts (in items 1 through 10) by writing the correct identifying letter on your answer sheet.

A. Assets



D. Revenue




G. Contra-Cost of Merchandise

B. Liabilities



E. Contra-Revenue


H. Expenses

C. Owner’s Equity

F. Cost of Merchandise

1. Sales Returns and Allowances

6. Bank Card Fee Expense

2. Purchases Discounts




7. Sales

3. Transportation In





8. Merchandise Inventory

4. Income Summary





9. Sales Discounts

5. Sales Tax Payable
         
           10. Purchases

Group 2

Listed below is the complete list of accounts from the Adjusted Trial Balance columns of a work sheet.  All accounts have normal balances.

Cash in Bank………………
4,396

Repair Fees………………
29,500

Accounts Receivable……..
1,140

Advertising Expense…….
  1,350

Office Equipment…………
6,485

Miscellaneous Expense…
     510

Repair Equipment……….   10,540

Rent Expense…………….
  2,900

Accounts Payable………..    4,780

Repair Expense………….
  1,200

James Brown, Capital……  14,991

Utilities Expense………….
     750

James Brown, Drawing…..     ?

Use the above data to answer questions 11 through 14.  Write the correct amount on your answer sheet.

11. How much did the owner draw from the business this period?

12. What is the total of the Adjusted Trial Balance debit column?

13. What is this period’s net income?

14. What will be the total of the Post-Closing Trial Balance credit column?

Group 3

If each of the following is an account, indicate how each should be closed.  Use the code:   DR=debit  CR=credit  NC=this item is not closed.  Write the correct code on your answer sheet.

15. Purchases






20. Transportation In

16. Prepaid Insurance




21. Purchases Returns & Allowances

17. Cost of Delivered Merchandise

22. Jason Cole, Drawing

18. Sales Discounts





23. Jason Cole, Capital

19. Income Summary with a net loss

24. Sales

Page 2

Group 4

Some amounts are omitted in each of the following financial statements:

	                                                      Income Statement

	For the Year Ended December 31, 1996

	
	Petunia Company
	Pansy Company
	Rose Company

	               Revenues
	          $48,000
	          $  (d)
	        $82,000

	               Expenses
	               (a)                               
	            52,000
	          64,000


	Owner’s Equity Statement

	For the Year Ended December 31, 1996

	
	Petunia Company
	Pansy Company
	Rose Company

	Capital, January 1
	           $   (b)
	          $45,000
	         $50,000

	Net Income
	             15,000
	            24,000
	              (g)

	Drawing
	             12,000
	               (e)
	           17,000

	Capital, Dec. 31
	             33,000
	            54,000
	              (h)


	Balance Sheet

	December 31, 1996

	
	Petunia Company
	Pansy Company
	Rose Company

	Total assets
	           $75,000
	           $    (f)
	         $91,000

	Total liabilities
	                (c)
	             56,000
	           40,000

	Total owner’s equity
	             33,000
	             54,000
	              (i)


Determine the missing amounts for items “a” through “i” and write the correct amount for each on your answer sheet.

25. Item a


28. Item d


31. Item g

26. Item b


29. Item e


32. Item h

27. Item c


30. Item f


33. Item i
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Group 5

Below are selected line items from a portion of a work sheet.  The beginning inventory is $84,220.  Use this data to answer questions 34 through 39.  Write the identifying letter of the best answer on your answer sheet.

	



      
	              INCOME 
	STATEMENT

	   
	          DEBIT
	        CREDIT

	Income Summary
	       
	            7,650         

	Sales
	
	        342,870

	Sales Returns & Allowances
	             8,570
	

	Sales Discounts
	             5,485
	

	Purchases
	         172,720
	

	Purchases Returns & Allow.
	
	             5,475

	Purchases Discounts
	
	             3,780

	Transportation In
	           12,870
	

	Expenses (combined)
	           67,255
	


34. Net sales are:


A. $163,465     B. $328,815     C. $333,615     D. $356,925

35. Net purchases are:


A. $150,595     B. $158,665     C. $163,465     D. $176,335

36. Cost of delivered merchandise is:


A. $159,850     B. $163,465     C. $176,335     D. $185,590

37.  Cost of merchandise sold is:

A.  $168,685     B. $199,645     C. $260,555     D. $268,205

38. Cost of merchandise available for sale is:


A. $168,685     B. $176,335     C. $260,555     D. $269,810

39. The gross profit is:

       A. $92,875        B. $160,130     C. $168,685     D. $170,150
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Group 6

The information in this group refers to the July 31 bank reconciliation for Wilson Electric.  Indicate how each of the items in 40 through 45 would be handled on the bank reconciliation using the following code.  Write the correct identifying letter for each on your answer sheet.

 A. added to the balance per bank statement

 B. deducted from the balance per bank statement

C.  added to the balance of the general ledger cash account

D.  deducted from the balance of the general ledger cash account

40. Deposits of July 30 in the amount of $1,600 that have not reached the bank

      as of July 31

41. A customer’s check for $140 that was deposited on July 20 was returned NSF by

      the bank  (the return has not been recorded by Wilson Electric)

42. Bank service charge for July amounts to $8.70

43. Included with the bank statement was check #941 for $560 as payment of an 

      account payable.  In comparing the canceled check with the cash disbursement

      journal, it was discovered that the check was incorrectly entered and posted for

      $650.

44. Outstanding checks as of July 31 amount to $2,437.

45. The bank improperly charged a check of the Wilson Carpet Co. for $65 to  Wilson

       Electric’s bank account.  After notification, the bank will correct the error on the 

       August bank statement.

Use the above data to solve question number 46.  Write the correct amount on your answer sheet.

46. If the balance per the bank on July 31 is $8,427.50, what was the balance in the

      general ledger cash account before reconciliation?

Group 7

For the multiple choice questions in this group, mark the identifying letter of the best answer on your answer sheet.

47. When a charge customer takes a sales discount, the seller receives more than the


amount of the sales price recorded on the books at the time of the sale.

A.  This is a true statement.

B. This is a false statement.

48. Every adjusting entry affects both a balance sheet account and an income 

statement account.

A.  This is a true statement

 B. This is a false statement.
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49. An account which is increased by a credit is:

A.  an asset account

C. a drawing account

B.  a liability account

D. an expense account

50. Merchandise with an invoice price of $50,000 is purchased subject to terms of

 
1/10, n/30, FOB shipping point.  Transportation costs are $300.  Assuming that the


invoice is paid within the discount period, what is the amount of the check to pay


for the purchase?

A.  $49,500     B. $49,800     C. $50,000     D. $50,300

51.  Which of the following could not be a complete and accurate analysis of a trans-


action?

A.  increase owner’s equity; increase assets

B.  increase revenue; increase a liability

C.  decrease an asset; increase an expense

D.  increase an asset; increase a liability

52. Which of the following rules is incorrect?

A.  Credits decrease the drawing account.

B.  Debits increase the capital account.

C.  Credits increase revenue accounts.

D.  Debits decrease liability accounts.

53. Which pair of columns could be omitted from a work sheet without seriously


limiting its use in the preparation of financial statements?

A.  trial balance columns

C. adjusted trial balance columns

B.  adjustments columns

D. income statement columns

54. What amount needs to be paid on an invoice for $1,600, less a debit


memorandum of $125 and a cash discount of 10%?

A.  $1,227.50     B. $1,327.50     C. $1,475.00     D. $1,475.50

55. Credits:

A.  increase both assets and liabilities.

B.  decrease both assets and liabilities.

C.  increase assets and decrease liabilities.

D.  decrease assets and increase liabilities.

56. An account which is increased by a credit is a(n):

A.  drawing account


C. expense account

B.  revenue account


D. asset account
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57. In accounting, a prepaid expense:

A.  is an asset account amount

B.  means the same thing as the term expense
C.  is a liability account amount

D.  is all of the above

58. An account which is increased by a debit is a:

A.  liability account




B.  drawing account




C.  capital account

D.  revenue account

59. On the basis of the following data, what is the proper adjusting entry on July 31,

 the end of the fiscal year:

Prepaid Insurance account balance before adjustment:  $11,500 debit

Unexpired premiums per analysis of policies: $4,600

A.  Debit Insurance Expense, $4,600; credit Prepaid Insurance, $4,600

B.  Debit Insurance Expense, $11,500; credit Prepaid Insurance, $11,500

C.  Debit Prepaid Insurance, $11,500; credit Insurance Expense, $11,500

D.  Debit Prepaid Insurance, $4,600; credit Insurance Expense, $4,600

E.  none of the above

60. Credit terms of 2/10, n/30 mean that a customer who pays within 2 days is entitled


to a 10% discount, but has the alternative of waiting 30 days to pay the full amount


of the invoice.

A.  This is a true statement.

B.  This is a false statement.

61. After the adjusting entry for prepaid insurance has been posted, the balance of the


prepaid insurance account represents the value of insurance premiums

A.  prepaid at the beginning of the fiscal period

B.  prepaid during the fiscal period

C.  expired during the fiscal period

D.  prepaid at the end of the fiscal period
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Group 8

Kyle Johnson began business operations on June 1, 1996.  Kyle designs and builds  web  pages  for  the  public  for  use  on  the  world  wide  web.  Table 1 on 

page  9  contains his chart of accounts and the transactions he completed for June.  You may remove the table page from the staple for convenience.

For questions 62 through 73, indicate for the transaction numbers listed below, the debit and credit part of each transaction.  Write the correct chart of accounts number (shown in Table 1) on your answer sheet.

	Transaction Number
	debit
	credit

	3
	#62
	#63

	4
	#64
	#65

	6
	#66
	#67

	8
	#68
	#69

	10
	#70
	#71

	11
	#72
	#73


Using the above data and Table 1 for questions 74 through 80, write the identifying letter of the best answer on your answer sheet.  Consider in each case that all the transactions for June have been journalized and posted, but no adjusting or closing entries have been made.

74. On the trial balance for June 30, the cash account balance is

A.  $55     B. $1,155     C. $1,755     D. $2,955     E. $3,055

75. The June 30 balance of Accounts Payable is

A.  zero    B. $100       C. $1,000     D. $1,100     E. $1,200

76. The account with a debit balance of $3,000 is

A.  Cash in Bank


D. Accounts Payable

B.  Office Furniture


E. Kyle Johnson, Capital

C.  Computer Equipment

77. The net income or loss before any adjustments is

A.  zero





D. net income $340

B.  net loss $60



E. net income $290

C.  net loss $340
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78. If the only adjusting entry needed is to record the amount of office and computer


supplies used, and if a physical count of these supplies is $130, which of the 


following is false?

A.  The adjusting entry would include a $30 credit to Office & Computer Supplies.

B.  The ending balance of Office & Computer Supplies after adjustment would be $30.

C.  the adjusting entry would include a $30 debit to an expense account.

D.  the Accounts Payable account would not be affected by this adjusting entry.

79.  The total of the debits on the June 30 trial balance is

A.  $6,170     B. $6,270     C. $6,300     D. $6,500     E. $6,945

80.  If the adjusting entry in question #78 is journalized and posted, what would be the


ending balance in the capital account after all closing entries are posted?

A.  $4,960     B. $5,060     C. $5,090     D. $5,110     E. $5,140

THIS IS THE END OF THE EXAM.  PLEASE KEEP YOUR ANSWER SHEET AND EXAM QUESTIONS UNTIL THE CONTEST DIRECTOR CALLS FOR THEM.  THANK YOU!
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TABLE  1

(for questions 62 through 80)

	Account #
	Account Title

	100
	Cash in Bank

	105
	Accounts Receivable

	110
	Office & Computer Supplies

	115
	Office Furniture

	120
	Computer Equipment

	200
	Accounts Payable

	300
	Kyle Johnson, Capital

	305
	Kyle Johnson, Drawing

	400
	Professional Fees Revenue

	500
	Telephone Expense

	505
	Internet Access Expense


Transactions for June:

Trans. #
Transaction


1

Kyle used his personal savings of $3,000 to invest in the business.


2

Purchased computer diskettes, paper, and various other supplies for $160




with check #101.


3

Invested computer and printer, valued at $1,800, in the business.


4

Paid the telephone bill for the current month, $35 with check #102.


5

Paid L.A. Company a fee of $25 with check #103 for unlimited internet




access for the month of June.


6

Billed Steven Parks, a client, $100 to set up a 10-page web site.


7

Used check #104 to purchase a used computer desk for $75.


8

Bought a new printer from BJ’s Computers for $1,200 on account.


9

Upon completion of a multilevel web site, received $300 from Acme




Builders.


10

Paid $100 with check #105 on account to BJ’s Computers.


11

Withdrew with check #106 $50 for personal use.


12

Received $100 on account from Steven Parks.

